KI)—4(U—13) BJAyY 2017

K)—4(U—13) BJAyY HEX

FENLei)
6./17 (%) xg
6./18(H) xg
6./24(%) xz
6./25(A) xz
7,1(1) brvommironig—900 | =Tz xg REPES A L%
7-2(8) | mings 2001 2U8 Vs BIASC R L%
7./8(%) xg
7./15(%) xg
7./16(R) xg
717(R)| mhnes 2% 210 xg FEIa— e T
7/22(1)| BEBE |2 W’%‘f‘j_ v fﬂfji’;ﬂ /“774')755 *ﬁnﬁftzg;%:rs
7./23(R) xg
7./29(%) xg
7./30(H) xz
8./5(%t) xg
8./6(H) “ xg — ——
8,711 (£) br—romortiisi 196?300 *f_jl/;g%{gﬁ xg ﬁﬁ%ﬂl;zc_ *lﬂb_&:?;?i ﬁu_é_’émgso—
8,712 (1) prvooimnris 19(;?300 ’Emgs%“ xg *ﬁnﬁf;%:ﬁ ﬁﬁ‘fﬁ@zo_ ﬂi—?ﬁiﬂ
8.13(R) xg
8./19(1) xg
8./20(H) “ xg 0 - -
8726 (L) provemuitoni 19(;?300 *fﬁlb;g%{% ¥§ /ﬁf«?;ﬁ /)\l/l/—,rrngl\; 1Iﬁ]%'q):lzlgF -
8,27 (B) bs—rvosmtionsiAp—2:00 ="z xg INLARES =12 =1
UL BIESC ve  HAtEhEED
=) vs BiEITa—



SiESC
SSC
=1

ke e ske 311
Ml 4 Fh 3FRB
Al A Hp D
ke esk 311

AIfETO—
AIETa—
AIETa—

)l/—rb‘::l:‘/
L—JzY

INLARRS

VS
VS
VS

VS
VS
VS
Vs

VS
VS
VS
VS
VS
VS

VS

JL—9zTY
INLARS
29)n

AfEIO—
IL—Jz>
INZE IS
28
L—"z>
INLALRRS
A=

INLA RS
=

)=



K)y—4(U—13) BZAvY 2017

K)—4(U—13) BJAyY HEX

=YL
9.2(%) xg
9./3(A) o2
9./9(1+) s
9.710(R) xg
9./16(%) xg
9.717(R) xg
918(A) xg
9./23 () s
9./30(+) L=
1071(H) xg
0./ 14(+ o
10./15(H L5
10/21(% o2
0./22(H s
10/ 28(+ s
10./29(H oS
11/3(2) s
11/4(%) xg
11./5(8) o5
11./11(% L=
11./12(H s
11,18(% s
11.719(A L5
11./23(K xg
11,25(+ us
P VS




III/ LU\I—I1 |VS|




